

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# State of West Virginia Solicitation Response

Proc Folder: 1461928

Solicitation Description: Square Tube Sign Supports

Proc Type: Agency Master Agreement

Solicitation Closes	Solicitation Response	Version
2024-10-08 10:30	SR 0803 ESR10072400000002403	1

**VENDOR** 

VS0000019604

ULTIMATE HIGHWAY SOLUTIONS I LLC

Solicitation Number: ARFQ 0803 DOT2500000015

**Total Bid:** 153950 **Response Date:** 2024-10-07 **Response Time:** 14:11:12

Comments:

FOR INFORMATION CONTACT THE BUYER

Jeromie F Lanham 304-720-7383 jeromie.f.lanham@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

 Date Printed:
 Oct 8, 2024
 Page: 1
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	2" x 2" x 10'-14 gauge square pre-punched on all 4 sides	700.0000	00 EA	30.450000	21315.00

Comm Code	Manufacturer	Specification	Model #	
30102900				

#### **Commodity Line Comments:**

#### **Extended Description:**

2" x 2" x 10'-14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	2" x 2" x 12'-14 gauge square pre-punched	600.00000 EA		36.550000	21930.00
	on all 4 sides				

Comm Code	Manufacturer	Specification	Model #	
30102900				

## **Commodity Line Comments:**

## **Extended Description:**

2" x 2" x 12'-14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	2" x 2" x 14'-14 gauge square pre-punched	50.00000	EA	42.650000	2132.50
	on all 4 sides				

Comm Code	Manufacturer	Specification	Model #	
30102900				

## **Commodity Line Comments:**

## **Extended Description:**

2" x 2" x 14'-14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	1.75" x 1" x 14' -14 gauge square pre- punched on all 4 side	50.00000	EA	36.950000	1847.50

Comm Code	Manufacturer	Specification	Model #	
30102900				

# **Commodity Line Comments:**

#### **Extended Description:**

1.75" x 1" x 14' -14 gauge square pre-punched on all 4 side on all 4 sides, 1" center to center, 3/8" hole

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	2.25" x 2.25" x 36" 14 gauge square pre- punched on all 4	1200.000	0 EA	13.650000	16380.00

Comm Code	Manufacturer	Specification	Model #	
30102900				

## **Commodity Line Comments:**

## **Extended Description:**

2.25" x 2.25" x 36" 14 gauge square pre-punched on all 4 sides, 1" center to center, 3/8" hole

Date Printed: Oct 8, 2024 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	8" triangular multi-directional slip base top for 2 1/2" squ	10.00000	EA	162.000000	1620.00

Comm Code	Manufacturer	Specification	Model #	
31160000				

#### **Commodity Line Comments:**

#### **Extended Description:**

8" triangular slip base top half for 2 1/2" square post-tubular post receiver-Triangular Multi-Directional Slip Base Component

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	3/8" x 3 1/2" grade 8 flanged shoulder bolt for tubular sty	300.0000	00 EA	1.350000	405.00

Comm Code	Manufacturer	Specification	Model #	
31160000				

## **Commodity Line Comments:**

## **Extended Description:**

3/8" x 3 1/2" grade 8 flanged shoulder bolt for tubular style post receivers and slip base bottom halves-Assembly Replacement Hardware

Line Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8 3/8"- 16 flange nut case hardened	300.000	000 EA	0.250000	75.00

Comm Code	Manufacturer	Specification	Model #	
31160000				

## **Commodity Line Comments:**

## **Extended Description:**

3/8"- 16 flange nut case hardened- Assembly Replacement Hardware

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	SS "L" shaped banding bracket assy. with hardware	100.0000	0 EA	6.550000	655.00

Comm Code	Manufacturer	Specification	Model #	
31160000				

# **Commodity Line Comments:**

#### **Extended Description:**

SS "L" shaped banding bracket assy. with hardware- Stainless Steel Banding and Brackets

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	Flared leg bracket with bolt and washer	100.000	00 EA	4.900000	490.00

Comm Code	Manufacturer	Specification	Model #	
31160000				

## **Commodity Line Comments:**

#### **Extended Description:**

Flared leg bracket with bolt and washer-Stainless Steel Banding and Brackets

Date Printed: Oct 8, 2024 Page: 3 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	2 1/2" x 36" Solid Tele-spar Installation	1000.0000 EA		41.400000	41400.00

Comm Code	Manufacturer	Specification	Model #	
30102900				

## **Commodity Line Comments:**

#### **Extended Description:**

2 1/2" x 36" Solid Tele-spar Installation-Heavy Duty Anchors

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Ln Total Or Contract Amount</b>
12	2 1/2" x 36" Angle Tele-spar Installation	1000.00	00 EA	45.350000	45350.00

Comm Code	Manufacturer	Specification	Model #	
30102900				

## **Commodity Line Comments:**

# **Extended Description:**

2 1/2" x 36" Angle Tele-spar Installation-Heavy Duty Anchors

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	5/16" medium corner bolt through 2 1/2" post	500.0000	0 EA	0.650000	325.00

Comm Code	Manufacturer	Specification	Model #	
31160000				

# **Commodity Line Comments:**

## **Extended Description:**

5/16" medium corner bolt through 2 1/2" post

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Ln Total Or Contract Amount</b>
14	5/16" flange nut used with corner bolts	500.000	00 EA	0.050000	25.00

Comm Code	Manufacturer	Specification	Model #	
31160000				

# **Commodity Line Comments:**

# **Extended Description:**

5/16" flange nut used with corner bolts

 Date Printed:
 Oct 8, 2024
 FORM ID: WV-PRC-SR-001 2020/05